

Bid Waiver Form

Revised 01/2025

Short Description of Goods/Services	Well abandonments at Dane County Landfill Site No. 3 (PW-C, D, and E).	Total Cost	\$359,965.00
-------------------------------------	--	---------------	--------------

Vendor Name	Traut Companies	MUNIS #	36350	Req # 2026-627

Purchasing Officer	Pete Patten	Date	11/17/25
Department	Waste + Renewables	Email	Rathsack.Allison@danecounty.gov
Name	Allison Rathsack	Phone	608.514.2319

^{*}A VENDOR QUOTE MUST BE ATTACHED TO THE WAIVER FOR APPROVAL*

Provide a detailed description of the goods/services intended to be purchased:

Dane County's Department of Waste + Renewables is requesting a bid waiver to contract with a specialized drilling company to abandon three (3) private wells within the footprint of the proposed Dane County Landfill Site No. 3.

The three wells are PW-C, PW-D, and PW-E with depths varying between 360' and 890' below surface to outer casing diameters varying between 10" to 18".

The total cost to abandon the three wells is \$359,965.00 with a breakdown for each well provided below:

1. PW-C: \$173,510.00 2. PW-D: \$94,640.00 3. PW-E: \$91,815.00



Bid Waiver Form

Revised 01/2025

Procurement Except	ion List		
☐ Emergency Procurement			
■ Unique and specific technical qualifications are required			
A special adaptation for a special purpose is required			
☐ A unique or opportune buying condition exists			
lacksquare Only one vendor possesses the unique and singularly available	ability to meet the Department's requirements		
Provide a detailed explanation as to why the competitive bid provide a detailed justification in relation to the Procurement			
The Dane County Landfill Site No. 3 well abandonmen are in the area of the landfill. Abandonment of wells in special requirements, and the type of wells at the site at the following:	the footprint of landfill construction have		
 The large-diameter wells have steel casing with ceme The wells have open boreholes in several hundred fe 			
To abandon the wells, the project requires a drill rig tha	at can:		
 Drill a very large (24-inch) diameter borehole to remo Have enough power to pull out the steel casings and 	•		
Very few drilling companies own or operate the type of drill rig (referred to as dual rotary, DR24) that can achieve both. Use of the dual rotary drilling method to overdrill existing large-diameter steel-cased wells in bedrock is rarely done and is a highly specialized service and there are very few companies that have done this work.			
Traut Companies has a broad range of drilling applications including environmental and municipal well drilling with highly qualified staff to ensure abandonment aligns with WDNR requirements and navigate any unforeseen field conditions.			
Bid Waiver Approval (For Purch	nasing Use Only)		
☐ Under \$45,000 (Controller)			
	Approved:		



32640 County Road 133 St. Joseph, MN 56374 320-251-5090 travist@trautcompanies.com

Quote

Project: Dane County Landfill #3 - Overshoot Well PW-C

DATE:	10/22/2025
NAME:	SCS Engineers
ADDRESS:	2830 Dairy Drive
	Madison, WI 53718-6751
CONTACT:	Betty Socha
PHONE #	608-212-6664
EMAIL:	bsocha@scsengineers.com
JOB#	900000

Well Details				
First Bedrock:	PDC			
Aquifer:	Multi			
Well Size:	18x12			
Well Type:	Open Hole			
Drilling Method:	Dual Rotary			
Well Depth:	890'			
Est. Work Days	12			

Notes:

Scope of Work:

- Pull Pump and Equipment
- Video well to look for fractures in the Limestone and verify casing depth.
- Clean well out to original depth
- Install tremie pipe to the bottom of the well, install neat cement to 10' below inner casing depth. Add pearock as needed to fill fractures that consume neat cement.
- Overshoot 18" Casing with 24" Casing and Bit.
- Remove inner casings.
- Install neat cement into 24" hole and remove 24" casing.

Proposed Start Date: July 20th, 2025

	rioposed start bate. Sury 20th, 2025				
Item					
No.	Description	Unit	Unit Price	QTY	Totals
	Drill Rig Operations				
1	Mobilization/Demobilization/Setup	LS	\$ 38,880.00	1	\$ 38,880.00
2	Installing and Removing Drilling Tools (Tripping Rods)	HR	\$ 625.00	12	\$ 7,500.00
3	Remove loose formation from the well to original depth	HR	\$ 625.00	6	\$ 3,750.00
4	Furnish and Install Grouting Equipment	HR	\$ 625.00	10	\$ 6,250.00
5	Install Grout	CuYd	\$ 825.00	36	\$ 29,700.00
6	Bentonite Chips (if needed)	Bag	\$ 16.00	30	\$ 480.00
7	Furnish & Install Pearock as needed	CY	\$ 440.00	8	\$ 3,520.00
8	Drill and Drive 24" Overshoot Casing	LF	\$ 490.00	70	\$ 34,300.00
9	Baroid Quik-Gel Drilling Fluid	Bag	\$ 16.00	30	\$ 480.00
10	Custom 24"x18" Overshoot Bit, Materials and Fab.	LS	\$ 10,240.00	1	\$ 10,240.00
11	Extract Inner Casings	HR	\$ 625.00	12	\$ 7,500.00
12	Remove 24" Casing and Overshoot Bit after grouting	HR	\$ 625.00	4	\$ 2,500.00
13	Maintain Watertight Dumpster Container	LS	\$ 2,700.00	1	\$ 2,700.00
14	Vac Truck to Dispose of Drill Fluid	EA	\$ 1,800.00	3	\$ 5,400.00
15	Per-Diem and Road Expense (3-man crew)	NIGHT	\$ 600.00	8	\$ 4,800.00
16	Site Restoration and Clean Up	LS	\$ 4,160.00	1	\$ 4,160.00
	Pump Hoist Truck Operations				
17	Mobilization/Demobilization/Setup	LS	\$ 5,950.00	1	\$ 5,950.00
18	Remove Pumping Equipment	HR	\$ 350.00	6	\$ 2,100.00
19	Crew Per-Diem (2-Man Crew)	NIGHT	\$ 400.00	1	\$ 400.00
20	Well Video	EA	\$ 2,900.00	1	\$ 2,900.00
				TOTAL	\$ 173,510.00

Customer Signature:	
Representative of Traut Companies:	Travis Trant



32640 County Road 133 St. Joseph, MN 56374 320-251-5090 travist@trautcompanies.com

Quote

Project: Dane County Landfill #3 - Overshoot Well PW-D

DATE:	10/22/2025
NAME:	SCS Engineers
ADDRESS:	2830 Dairy Drive
	Madison, WI 53718-6751
CONTACT:	Betty Socha
PHONE #	608-212-6664
EMAIL:	bsocha@scsengineers.com
JOB#	9000000

Well Details				
First Bedrock:	PDC			
Aquifer:	Multi			
Well Size:	10x6			
Well Type:	Open Hole			
Drilling Method:	Dual Rotary			
Well Depth:	360'			
Est. Work Days	8			

Notes:

Scope of Work:

- Pull Pump and Equipment
- Video well to look for fractures in the Limestone adn verify casing depth.
- Clean Well out to original depth
- Install tremie pipe to the bottom of the well, install neat cement to 10' below inner casing depth. Add pearock as needed to fill fractures that consume neat cement.
- Overshoot 10" Casing with 16" Casing and Bit.
- Remove inner casings.
- Install neat cement into 16" hole and remove 16" casing.

Proposed Start Date: July 20th, 2025

	1 Toposed Start Bate. Sary 20th, 2025				
Item					
No.	Description	Unit	Unit Price	QTY	Totals
	Drill Rig Operations				
1	Mobilization/Demobilization/Setup	LS	\$ 22,475.00	1	\$ 22,475.00
2	Installing and Removing Drilling Tools (Tripping Rods)	HR	\$ 625.00	6	\$ 3,750.00
3	Remove loose formation from the well to original dept	HR	\$ 625.00	2	\$ 1,250.00
4	Furnish and Install Grouting Equipment	HR	\$ 625.00	4	\$ 2,500.00
5	Install Grout	CuYd	\$ 825.00	6	\$ 4,950.00
6	Bentonite Chips (if needed)	Bag	\$ 16.00	10	\$ 160.00
7	Furnish & Install Pearock as needed	CY	\$ 440.00	1	\$ 440.00
8	Drill and Drive 16" Overshoot Casing	LF	\$ 340.00	80	\$ 27,200.00
9	Baroid Quik-Gel Drilling Fluid	Bag	\$ 16.00	20	\$ 320.00
10	Custom 16"x10" Overshoot Bit, Materials and Fab.	LS	\$ 5,900.00	1	\$ 5,900.00
11	Extract Inner Casings	HR	\$ 625.00	8	\$ 5,000.00
12	Remove 16" Casing and Overshoot Bit after grouting	HR	\$ 625.00	3	\$ 1,875.00
13	Maintain Watertight Dumpster Container	LS	\$ 2,700.00	1	\$ 2,700.00
14	Vac Truck to Dispose of Drill Fluid	EA	\$ 1,800.00	2	\$ 3,600.00
15	Per-Diem and Road Expense (3-man crew)	NIGHT	\$ 600.00	6	\$ 3,600.00
16	Site Restoration and Clean Up	LS	\$ 3,220.00	1	\$ 3,220.00
	Pump Hoist Truck Operations				
17	Mobilization/Demobilization/Setup	LS	\$ 1,400.00	1	\$ 1,400.00
18	Remove Pumping Equipment	HR	\$ 350.00	6	\$ 2,100.00
19	Crew Per-Diem (2-Man Crew)	NIGHT	\$ 400.00	1	\$ 400.00
20	Well Video	EA	\$ 1,800.00	1	\$ 1,800.00
				TOTAL	\$ 94,640.00

Customer Signature:	
Representative of Traut Companies:	Travis Trant



32640 County Road 133 St. Joseph, MN 56374 320-251-5090 travist@trautcompanies.com

Quote

Project: Dane County Landfill #3 - Overshoot Well PW-E

DATE:	10/22/2025			
NAME:	SCS Engineers			
ADDRESS:	2830 Dairy Drive			
	Madison, WI 53718-6751			
CONTACT:	Betty Socha			
PHONE #	608-212-6664			
EMAIL:	bsocha@scsengineers.com			
JOB#	9000000			

Well Details					
First Bedrock:	PDC				
Aquifer:	Multi				
Well Size:	10x6				
Well Type:	Open Hole				
Drilling Method:	Dual Rotary				
Well Depth:	455'				
Est. Work Days	8				

Notes:

Scope of Work:

- Pull Pump and Equipment
- Video well to look for fractures in the Limestone adn verify casing depth.
- Clean Well out to original depth
- Install tremie pipe to the bottom of the well, install neat cement to 10' below inner casing depth. Add pearock as needed to fill fractures that consume neat cement.
- Overshoot 10" Casing with 16" Casing and Bit.
- Remove inner casings.
- Install neat cement into 16" hole and remove 16" casing.

Proposed Start Date: July 20th, 2025

	1 Toposed Start Date. July 20th, 2023				
Item			<u> </u>		
No.	Description	Unit	Unit Price	QTY	Totals
	Drill Rig Operations				
1	Mobilization/Demobilization/Setup	LS	\$ 22,475.00	1	\$ 22,475.00
2	Installing and Removing Drilling Tools (Tripping Rods)	HR	\$ 625.00	7	\$ 4,375.00
3	Remove loose formation from the well to original dept	HR	\$ 625.00	2	\$ 1,250.00
4	Furnish and Install Grouting Equipment	HR	\$ 625.00	4	\$ 2,500.00
5	Install Grout	CuYd	\$ 825.00	8	\$ 6,600.00
6	Bentonite Chips (if needed)	Bag	\$ 16.00	10	\$ 160.00
7	Furnish & Install Pearock as needed	CY	\$ 440.00	1	\$ 440.00
8	Drill and Drive 16" Overshoot Casing	LF	\$ 340.00	65	\$ 22,100.00
9	Baroid Quik-Gel Drilling Fluid	Bag	\$ 16.00	20	\$ 320.00
10	Custom 16"x10" Overshoot Bit, Materials and Fab.	LS	\$ 5,900.00	1	\$ 5,900.00
11	Extract Inner Casings	HR	\$ 625.00	8	\$ 5,000.00
12	Remove 16" Casing and Overshoot Bit after grouting	HR	\$ 625.00	3	\$ 1,875.00
13	Maintain Watertight Dumpster Container	LS	\$ 2,700.00	1	\$ 2,700.00
14	Vac Truck to Dispose of Drill Fluid	EA	\$ 1,800.00	2	\$ 3,600.00
15	Per-Diem and Road Expense (3-man crew)	NIGHT	\$ 600.00	6	\$ 3,600.00
16	Site Restoration and Clean Up	LS	\$ 3,220.00	1	\$ 3,220.00
	Pump Hoist Truck Operations				
17	Mobilization/Demobilization/Setup	LS	\$ 1,400.00	1	\$ 1,400.00
18	Remove Pumping Equipment	HR	\$ 350.00	6	\$ 2,100.00
19	Crew Per-Diem (2-Man Crew)	NIGHT	\$ 400.00	1	\$ 400.00
20	Well Video	EA	\$ 1,800.00	1	\$ 1,800.00
				TOTAL	\$ 91,815.00

Customer Signature:	
Representative of Traut Companies:	Travis Trant